Trapezoid Study Guide H,._ Base

A trapezoid is a quadrilateral with exactly one pair of parallel sides. Leg ' Leg
The parallel sides are called bases and the nonparalle! sides are
called legs. :
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An isosceles trapezoid is a trapezoid whose legs are congruent.
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< The diagonals of an isosceles trapezoid are congruent.
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The median of a trapezoid is the segment that joins the midpoints

of the legs. The median is parallel to the bases and its measure is
half the sum of the measures of the bases.
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ABCD is an isosceles trapezoid. MN is a median. -
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Ex.3 AB=6x-3; MN=15; {D = 8x + 5. Find x, AB, and CD,
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Ex.4 ms1=4x-60; msC=30-x Find x, ms1, and m<C. ,

4% -LO = 3o—%
Sx = QOK
X = 1%
iy T VL ™ LC= 7,
Ex.5 mB = 4x + 40, msD = 3x. Find x, m2B, and msD.
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Ex. 6 CD is the median of a trapezoid that bases AB and EF with € on AF and D on BE. If
the vertices of the trapezoid are A(3, 7), B(5, 7), E(11, 1), and F(1,1}, find the coordinates of €
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Ex. 7 Given: Isosceles trapezoid ABCD, m/_’ABD 20°, m£DAC = 75°. {Note that an isosceles
trapezoid has a line of symmetry.)
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med=_ 10O
msS= \05

me6 = 20
ms7 = [05
m£8 = 20
q

Uy

m<sDAB =
msABC = q s

mEADC: B )

meBCD=_ 35




Geometry Worksheet
Trapezoids {6.5)

Name,

Date

1 Given: Isosceles trapezoid ABCD, msBAC = 30° and mZDBC = 85°

m£3z 35 .

ms4 = 35

ms5= e

msb=__| Bul)
ms7= ?) O
ms8 = g 5

ms ADC =_1p9
m. BCD = b5
ms DAB = H5

msCBA= 1y

2. Given: Isosceles trapezoid JXVI, mAJVI = 42° and msIJV = 65°

“msl= Ha
mZs2s (9‘5

Ma‘: 3 i
msd= L{ :L

msB = gt‘i

mee=__ b
me7= 8%
moas_ b
me9: M3
me10:_ 05

mZil= 3&
mng: L{cl

megv=_12

meIIX=_ 1O

3. Given: Isosceles trapezoid JXVI, msIXV = 83° and msVIX = 28°
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maze_83.
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me7s 9o
me8s QM
me9=_ A8
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motl= 4
m-s12= &ﬁn'

ms IVX = (OGR
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& VW is the median of a trapezoid that hos bases MN and PO with Von OM and Won PN, If the
verfices of the frapezeid are M(2, 6), N4, 6), P(10, 0), and O(0, 0), find the coordinates of V and W.
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5 VW is the median of a trapezoid Ml\mﬂuﬂ has bases MN and PO, with ¥ on PM and W on ON.. Tf

M, 10), (9, 10), V(3. 7), and W(1L, 7). find the coordinates of P and O. Qs g
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| XY is the median of trapezoid QRST in problems 6-11.

6. XY=18and TS=7. 7. TS=nand QR = 6. 8. XY=16. Find TS+QR.

Find QR. B Find XY in terms of n. R R
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9.\3X = § (SRYand m£T=130. 10. ST=a and QR=2b. 11 @md msTXY = 45.
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In problems 12-14, frapezoid ABCD is isosceles) Find the varicble in each,

12. AB=x+5and €D =3x+3 | 13. mZABC=3x-7 and m L ADC}5x+3 | 14. AC= x°+ 6 and BD = 8x ~ 9.
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